1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note :

50, will be treated as malpractice.
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Express
P 2+1

Show that

If y=e™" S then pere that (1-x )yn+2 "‘r&g

urves
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v (06 Marks)

(05 Marks)
(05 Marks)

(06 Marks)

(05 Marks)

(06 Marks)

2n +)xy, ., — (n +mo)y, =0. (05 Marks)

mtersect orthogonally r=a(l+cos0),

(05 Marks)
(06 Marks)
(05 Marks)
(05 Marks)
‘, ¢ " Module-3
Obtain the reduction fonnulé;;jgpr Icos" xdx , where n being a +ve integer. (06 Marks)
I v 3
Evaluate jxm(l -x)*2dx’ (05 Marks)
0 : A N
Evaluate J nyif&dx (05 Marks)
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a

b.
&
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OR

T

Evaluate Ix sin® xdx (06 Marks)
0
o 2

Evaluate | ————dx (05 Marks
_[ (1 el X6)7/2 )
a x Xty

Evaluate H Ie"*y”‘dxdydz (05 Marks)
00 O

A part1c1e moves along the ,‘curVe x=2t%, y=t —4* Z=3t—5, find the components of
j+2k att=2. (06 Marks)
29 and z=x"+y’—3at the point
(05 Marks)

(05 Marks)

% iv) in the direction 2i—j—2k.
| (06 Marks)
(05 Marks)

J+(2xyz 2x* y )k is solenoidal.

(05 Marks)
Solve (x* — yz)dw\ Xydy =0. (06 Marks)
dy x@logx+1
Solve —y— = ——(———g———)— . (05 Marks)
Lsiny+ycosy
Solve ==+ ycotXx =cos X & (05 Marks)
P ‘
(06 Marks)
| (05 Marks)
Solve (5x ﬁ3 y —2xy ydx + 2%}y —3x%y* =5y )dy =0. (05 Marks)

* ok ok ok ok
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